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6,10»411->3—>5—>1—>2—>9—> 8 — 7 —>> C1,C4,C7
A knot diagranﬂ 0 G

Cs C11 C2 Co cs Cg
Ideals for irreducible component#ﬂ)f Xpar

I'=0—u v —u®4+. - +da+1, «® + 116+ +3u—1)

I3 = (—159484971u® + 121594878u® + - - - + 95716253b + 570195911, —u*’ +u?® 4 --- + a +6,

uw? —u? 4 —6u+1)
Y= (b+u, a® —2au —a+u, u? +1)

* 3 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1. I?:(b_u’ u19_u18+...+4a+1, u20+11’u,18+---+3u—1>

(i) Arc colorings

1
aio = \0
—lylo g Ly1s g gy
a4— u
1
o= ()
_iu19+1u18_~_ .+4u_i
az = u
u
as = \ud+u
u? +1
a1 = \yt 4 242
fiulg + %uls + 4 5u— %
ap= \ Lylo _Ly18 4. g2 41
1,19 _ 118 1 5
U T guT Ut g
agz _u2
1,19 _ 1,18 1 5
as = —ut — 2u?
sul® + Jul 4+ 4 2u? —2u
ar = \ Lol —Lyl8 o424l
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u!® — 21u!7 — 3ul® — 91u!® — 30u'? — 202u!3 — 119u'? —
224yt — 227410 — 8449 — 181u® + 22u” + 14u® — 22u° + 64u®* — 28u3 — 25u2 + 12u — 19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 w0+ 3w =9y —2
Co,Cg O+ 7w+ +33u+4
C3,Cq4,C5 u20+11u18+~"*3U*1
C9, €10, C11
Cs u?® —3u' ... — 48u — 32




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢y y? =Ty 4 - =33y + 4
2, Co y?0 + 13y + .- — 561y + 16
€3,C4,C5 v+ 22y 4 — By +1
C9, €10, C11
c8 y?0 —y'? 4. 43328y 4 1024




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.711644 + 0.2136651
a = —0.992229 4 0.0859721
b= —0.711644 + 0.2136651

—0.77253 + 5.598301

—13.4954 — 6.82501

u = —0.711644 — 0.2136651
a = —0.992229 — 0.0859721
b= —0.711644 — 0.2136651

—0.77253 — 5.598301

—13.4954 + 6.82501

u = —0.714807
a = —0.946170
b= —0.714807

—4.75848

—19.2850

uw=0.147507 + 1.3449301
a= 1.07486 — 2.875711
0.147507 + 1.3449301

5.87096 + 0.284051

—5.48153 — 0.412161

uw=0.147507 — 1.3449301
a= 1.07486 + 2.875711
0.147507 — 1.3449301

5.87096 — 0.284051

—5.48153 + 0.412161

uw=0.601815+ 0.2282361
a= 0.950028 + 0.1492171
0.601815 + 0.2282361

0.157185 — 0.4141261

—12.01664 +- 2.087871

uw= 0.601815 — 0.2282361
0.950028 — 0.1492171
0.601815 — 0.2282361

0.157185 + 0.4141261

—12.01664 — 2.087871

uw=0.280299 + 1.3652401
1.37177 — 2.140021
0.280299 + 1.3652401

3.92725 — 7.173671

—8.70322 4 5.731651

0.280299 — 1.3652401
a= 137177 + 2.140021
b= 0.280299 — 1.3652401

3.92725 + 7.173671

—8.70322 — 5.731651

u = —0.20040 + 1.408967
a = —1.00049 — 2.384031
b = —0.20040 + 1.408961

8.53664 4 4.274251

—2.38649 — 3.515361




Solutions to I7*

V=1(vol + y/=1CS)

Cusp shape

= —0.20040 — 1.408961
= —1.00049 + 2.384031
—0.20040 — 1.408961

8.53664 — 4.274251

—2.38649 + 3.515361

0.35253 + 1.442491
= 1.15928 — 1.783531
0.35253 + 1.442491

9.8480 — 13.65471

—5.09222 + 8.083541

0.35253 — 1.442491
1.15928 + 1.783531
0.35253 — 1.442491

9.8480 + 13.65471

—5.09222 — 8.083541

—0.32179 4 1.453171
= —1.09427 — 1.867721
—0.32179 4 1.453171

11.02130 + 7.692021

—3.25100 — 3.403951

—0.32179 — 1.453171
= —1.09427 + 1.867721

U
a
b
U
a
b
U
a=
b
U
a
b
U
a
b= —0.32179 — 1.453171

11.02130 — 7.692021

—3.25100 + 3.403951

u= 0.074422 + 0.4759301

0.299691 + 1.1946001

1.45151 — 2.349931

—9.21397 + 4.740771

b= 0.074422 + 0.4759301

= 0.074422 — 0.4759301

= 0.299691 — 1.1946001 1.45151 + 2.349931 | —9.21397 — 4.740771
b= 10.074422 — 0.4759301

—0.02313 + 1.540671

a = —0.08257 — 2.239731
b= —0.02313 + 1.540671

15.2534 + 3.08551

—1.70716 — 2.628851

u = —0.02313 — 1.540671
a = —0.08257 + 2.239731
b= —0.02313 — 1.540671

15.2534 — 3.08551

—1.70716 + 2.628851

= 0.315603
0.574029
0.315603

U
a
b

—0.553031

—18.0200




II. I¥ = (—1.59 X 10%u? + 1.22 x 10%u?® + ... + 9.57 X 107b + 5.70 X
108, —u®® +u?®+...+a+6, u3 —u?? +... —6u+1)

(i) Arc colorings

u? —u® + .. 4+ 10u — 6
1.66623u2 — 1.27037u?8 4 - - - + 17.4027u — 5.95715

2.66623u2° — 2.27037u2® + - .- 4+ 27.4027u — 11.9571
1.66623u? — 1.27037u?8 + - - - 4+ 17.4027u — 5.95715

4.729294%° — 3.69976u28 + - - - + 46.3017u — 17.7300
2.22042u2° — 1.73024u2® + - - - +21.0519u — 7.17018

5.95715u2° — 4.29092u2® + - - - + 56.4198u — 17.3402
0.3958592 + 0.105883u2® + - - - + 4.04021u — 0.666227

5.19351u? — 3.62763u?® + - - - 4+ 49.7650u — 14.1723 >

ag =

as = \ —0.367778u2° + 0.769175u2® + - - - — 2.61459u + 1.50174

—6.74902u%° 4 4.86232u%8 + - - - — 65.5259u + 23.3729
—2.01973u?° 4+ 1.16256u?® + - - - — 17.2242u + 5.64291

(—6.74902u29 + 4.86232u® + - - — 65.5259u + 23.3729)

a7 =

(
(
(
(
= ()
(
(
(
(
(

ar = \ —2.01973u?® + 1.16256u® + - - - — 17.2242u + 5.64291
(ii) Obstruction class = —1

_ 583799292, 20 _ 406184408, 28 4386525380 2570388306
(iii) Cusp Shapes = i u™ — Goymsru™ + - + 55716053 U — 05716253



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,c7 (u'® — w4 2u—1)2
c2, Co (u® 4 5ut - 120 +1)2
€3,C4,C5 w0 o+ 6ut1
C9, €10, C11
cg (u15+u14+_.__4u_1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 (y*® — 5y™ 4+ 12¢° — 1)?
¢, Cg (y" +11yM - — 84y — 1)?
€3,C4,C5 30+ 23y 4. — 16y + 1
C9, €10, C11
CS (y15_y14++16y_1)2




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

uw = —0.171252 + 1.0099201
a= 0.163210 + 0.9624981 1.46912 — 2.074021 | —11.82822 + 2.671221
b= 0.318180 + 0.0528161

uw = —0.171252 — 1.0099201
0.163210 — 0.9624981 1.46912 + 2.074021 | —11.82822 — 2.671221
b= 0.318180 — 0.0528161

u = —0.607011 + 0.8563911
a= 0.550893 + 0.7772181 6.82325 4 1.505231 | —3.84867 — 2.740481
b= —0.108390 — 1.3747401

u = —0.607011 — 0.8563911
= 0.550893 — 0.7772181 6.82325 — 1.505231 | —3.84867 + 2.740481
—0.108390 + 1.3747401

= 0.879105 + 0.2907631
—1.025350 4 0.3391341 4.31617 —9.217801 | —8.14540 + 7.391351
= —0.28507 — 1.386381

0.879105 — 0.2907631
= —1.025350 — 0.3391341 4.31617 4+ 9.217801 | —8.14540 — 7.391351
—0.28507 + 1.386381

—0.836240 4 0.3417181
= 1.024720 + 0.4187371 5.27292 4- 3.518521 | —6.28698 — 2.590271
0.241243 — 1.3825401

—0.836240 — 0.3417181
1.024720 — 0.4187371 5.27292 — 3.518521 | —6.28698 + 2.590271
0.241243 + 1.3825401

0.587196 + 0.9467811
—0.473090 4 0.7627991 6.30676 4 4.091997 | —4.95573 — 3.150941
0.171749 — 1.3694101

0.587196 — 0.9467811
= —0.473090 — 0.7627991 6.30676 — 4.091997 | —4.95573 + 3.150941
= 0.171749 + 1.3694101

> & €|l & €|l & €| & €| €| 2 8|
Il
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

0.269205 + 1.1033701

—0.208705 + 0.8553971 1.86559 —10.56339 + 0.1
= 0.269205 — 1.1033701
= 0.269205 — 1.1033701
= —0.208705 — 0.8553971 1.86559 —10.56339 + 0.1

0.269205 + 1.1033701

0.119824 + 1.2366801
—0.077620 4 0.8010991
—0.505429 — 0.3688811

2.93870 — 1.660841

—6.48958 + 3.964051

0.119824 — 1.2366801
—0.077620 — 0.8010991
—0.505429 + 0.3688811

2.93870 4 1.660841

—6.48958 — 3.964051

0.706910 + 0.1615701

= —1.344380 + 0.3072691

—0.280017 — 1.2472401

—0.91830 — 3.603401

—14.1637 + 4.47671

0.706910 — 0.1615701

= —1.344380 — 0.3072691

—0.280017 + 1.2472401

—0.91830 + 3.603401

—14.1637 — 4.47671

= —0.280017 + 1.2472401

0.171369 + 0.7632991
0.706910 — 0.1615701

—0.91830 + 3.603401

—14.1637 — 4.47671

—0.280017 — 1.2472401
0.171369 — 0.7632991
0.706910 + 0.1615701

—0.91830 — 3.603401

—14.1637 + 4.47671

—0.505429 + 0.3688811
1.29090 + 0.942151
0.119824 — 1.2366801

2.93870 4 1.660841

—6.48958 — 3.964051

—0.505429 — 0.3688811
1.29090 — 0.942151
0.119824 + 1.2366801

2.93870 — 1.660841

—6.48958 + 3.964051
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Solutions to I3

V=1 (vol + v/=1C)

Cusp shape

u = —0.108390 + 1.3747401
0.056998 + 0.7229151
b= —0.607011 — 0.8563911

6.82325 — 1.505231

—3.84867 + 2.740481

uw = —0.108390 — 1.3747401
a= 0.056998 — 0.7229151
b= —0.607011 + 0.8563911

6.82325 4 1.505231

—3.84867 — 2.740481

u= 0.171749 + 1.3694101
a = —0.090167 + 0.7189331
b= 0.587196 — 0.9467811

6.30676 — 4.091991

—4.95573 + 3.150941

0.171749 — 1.3694101
= —0.090167 — 0.7189331
0.587196 + 0.9467811

6.30676 4 4.091991

—4.95573 — 3.150941

0.241243 + 1.3825401
= —0.122482 + 0.7019321
—0.836240 — 0.3417181

5.27292 — 3.518521

—6.28698 + 2.590271

0.241243 — 1.3825401
—0.122482 — 0.7019321
—0.836240 4 0.3417181

5.27292 4 3.518521

—6.28698 — 2.590271

—0.28507 + 1.386381
0.142301 + 0.6920431
0.879105 — 0.2907631

4.31617 + 9.217801

—8.14540 — 7.391351

—0.28507 — 1.386381
0.142301 — 0.6920431
0.879105 + 0.2907631

4.31617 —9.217801

—8.14540 + 7.391351

0.318180 + 0.0528161
—3.05860 + 0.507711
—0.171252 4 1.0099201

1.46912 — 2.074021

—11.82822 4 2.671221

0.318180 — 0.0528161
= —3.05860 — 0.507711

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —0.171252 — 1.0099201

1.46912 + 2.074021

—11.82822 — 2.671221
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I I¥ = (b+ u, a® — 2au — a + u, u? + 1)

(i) Arc colorings

asz =

[

(
(
(
(
w- (6
(
(
(
(
(

a9 =
au+1
ag = 1
au+1
ag = 1
au—u—+1
ar = a

au—u—+1
a7= a

(ii) Obstruction class =1

(iii) Cusp Shapes = 4a — 4u — 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 wt—u? 41
C2 (u? +u+1)2
63764765 (u2 +1)2
€9, C10, C11
6 (u? —u+1)2
cg u4

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,07 (y* —y+1)?
C2,C6 (y* +y+1)?
C37C47C5 (y+1)4
C9, €10, C11
cg y4

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

1.0000001
0.500000 + 0.1339751
— 1.0000001

3.28987 + 2.029881

—6.00000 — 3.464101

1.0000001
0.50000 + 1.866031
— 1.0000001

3.28987 — 2.029881

—6.00000 + 3.464101

— 1.0000001
0.500000 — 0.1339751
1.0000001

3.28987 — 2.029881

—6.00000 + 3.464101

> & €|l & 8| & 8|l & &

— 1.0000001
0.50000 — 1.866031
1.0000001

3.28987 + 2.029881

—6.00000 — 3.464101
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
1,7 (u* —u? + 1) —u'* o+ 2u — 12w 4+ 3u® 4+ — 9u - 2)
Co (u? +u+ D)D) +5u + - 4 12u® +1)2

(w4 Tur? 4 4 33u 4+ 4)

€3,C4,C5 ((u2 + 1)2)(u20 +11u® 4+ = 3u— 1)(u30 +u2 4 6u+ 1)
€9, C10, C11
Cs (u? —u+ 1)) (u® +5u + - 4 12u® +1)2

(w4 Tur? 4 4 33u 4+ 4)

s ut(u'® +utt 4 —du— 1) (u® — 3u'® + - — 48u — 32)

17



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, en (" =y +D)*) (" = 5y" + - +12¢° — 1)
S =Ty 4 =33y +4)
¢, o (W +y+ D))" +11y" + - — 84> — 1)°
(Y0 + 13y" 4 - — 561y + 16)
B (y+ DN+ 229" + - =5y + 1) (5% + 23y + - — 16y + 1)
€9, €10, C11
s vy =yt 16y — 1270 — ' - 4 3328y + 1024)

18



